[REZEEALLIHFEDIEBEEE EE5IRALEE) XETILT—XFI
D 40U EE G HE

HIEZRHn BYEBHEXESZEN] NEMEED
R7:R%i%8 8,650,294 9,045,703 8,424,846 FhigE%E
(PR EEZESUERID) 10,600,294 10,995,703 10,374,846 WEINAZE
R7:fh%8 8,650,294 9,872,149 8,424,846 it
(FREERERER) 10,600,294 11,822,149 10,374,846 WEINAZE
=% () ERGL 826,446 ETEEGL
@ 40EELLEDKIF2A HHE
HERHn RYEBHEXESZN] NEMEED
R7:R%i%8 8,192,350 8,570,496 7,656,805 FhigE%E
(PR EEZESERD) 10,142,350 10,520,496 9,606,805 WEINAZE
R7:R%i%8 8,192,350 9,396,943 7,656,805 FhigE%E
(FREZESRER) 10,142,350 11,346,943 9,606,805 S5 IRAZE
=5 (%) ERLEL 826,447 EELGL
B 40 Ll EDKRIF2AEFEL2A (FRELINELE) DANHE
HBERERD EHEREXELEY] NEMETESH
R7:E%z8 7,356,569 7,723,389 7,656,805 g%
(PR EEZEERD) 9,396,188 9,803,766 9,729,784 HHEIRAZE
R7 5548 7,356,569 8,549,835 7,656,805 g%
(FREZESER) 9,396,188 10,722,039 9,729,784 W5 IRAZE
=5 (%) ERLGL 826,446 ETEEGL




[REZEEALLIHFEDIEBEEE EE5IRALEE) XETILT—XFI
D 40U EE G HE

HBERERD BUEREXELSES] NEMREESH
39 (5 SR E 9,375,324 9,525,239 10,267,500 FisEiE
T& = 11,325,324 11,475,239 12,217,500 H5UNAZE
m g 9,375,324 10,477,620 10,267,500 FisEiE
QIEEREER 11,325,324 12,427,620 12,217,500 H5UNAZE
=5 (R EEEHL 952,381 ETEEGL
@ 40ELL EDEIF2AHE ]
HBERERD BUEREXELSS] NEMREESH
19 (5 SR 4E 8,968,130 9,096,667 9,480,000 g%
T& = 10,918,130 11,046,667 11,430,000 H5URAZE
[ 8,968,130 10,049,048 9,480,000 g%
QIEEREER 10,918.130 11,999,048 11430000 [ 5IAZE
=5 (%) ZEAEL 952,381 TEEGL
B 40 Ll EDKRIF2AEFEL2A (FRELINELE) DANHE
HEEERD RUEBHEXELEN] NEMEED
39 {5 S R4 8,153,742 8,239,524 9,480,000 PiS&4E
T = 10,281,937 10,377,249 11,755,556 K5 URAZE
w3 8,153,742 9,191,905 9,480,000 FikcE ]
IERRBLER 10,281,936 11,435,450 11,755,556 K5 UNAZE
=5 (%) ZEAEL 952,381 ETEEGL




[REZEEALLIHFEDIEBEEE EE5IRALEE) XETILT—XFI
D 40U EE G HE

HIBERERD BUEREXELSES] NEMREESH
P 9,375,324 9,525,239 10,267,500 g%
BATRBEA 11,325,324 11.475.239 12.217.500 {8 5 IR AZE
N 9,375,324 10,477,620 10,267,500 g%
QIEEREER 11,325,324 12,427,620 12,217,500 WEINAZE
=5 (R EEEHL 952,381 ETEEGL
=t (PR 15:%8 —430,000) X 6.95% + 28,300=> 650,000 |
AN LR RIR43 A AZE S - HICFTSE16.95%Z B 1T, S5ICH
iR ER F228,300M x 1 AZ B LI-B DA ERFZE (a) E15 5, ERFIEE (a) HVERERIE

EEENSLMZ LRILEEZHET S,

@ 40mE Ll EDKIF2AHE

HiEREHRo rHEhEXESES| NEMRETES
PR 8,968,130 9,096,667 9,480,000 AisEiE
BATRBEA 10.918.130 11,046,667 11430000 |85 IR AZE
m g 8,968,130 10,049,048 9,480,000 AisEiE
CIERRBLER 10,918,130 11,999,048 11,430,000 WEINAZE
=2 (1) ZEAEL 952,381 ETEEGL
#HA (AT 1548 — 430,000) X 6.95% + 28,300 X 2 A = 650,000
AN L EREEIR43 A A% - BEICFTGE16.95%Z B 1T, S5ICH
iR s % 328,300 x 2 NE R LI-L DA EF%E (a) L7525, iR Fi%E (a) HERERIR

ERENS5HAZE LAAEEEEHET S,

@ 40U EDKRIF2ANEFEL2A (PFEELNESE) DAAEHT

HIBERERSD RUEBHEXELEN] NEMEED
PR 8,153,742 8,239,524 9,480,000 AisEiE
BATRBEA 10,281,937 10,377,249 11,755556  [#8 5 IR AZ8
w3 8,153,742 9,191,905 9,480,000 Fikctt
IEERBLER 10,281,936 11,435,450 11,755,556 w5 IRAZE
=5 (T H) ZEAEL 952,381 ETEEL
=L (Fr15 %8 —430,000) X 6.95% + 28,300 X 4 A =630,000 [
] RTS8 L ERHEIR43F A Z 5LV /= BAICFT 1S E16.95% E # T, S5I21y
i F228,300M x 4 NZE B LI-B DA ERFEE (a) E15 D, ERFIEE (a) AV ERERIE

EREN63FMZE LAAGEEEEHET S,

#=0

[(Fr75%8 — 430,000) X 6.95% + 28,300 X 4 A = 630,000




